Using
SOHCAHTOA
The Sine and Cosine Ratios
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Find all three trig functions for
angles A and B
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Find the tangent of angles A and B
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Find the tangent of angles A and B
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Find the tangent of angles A and B

A A

Adjacent Opposite

Opposite Adjacent
B
C v C 5

adjacent 5 4
COSA = = _, -
hypotenuse |74 W _Jy €03 B 2

Notice
. opposite 7 S

SINA = PP = - * SInB = _5
hypotenuse 74 4
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Find the missing lengths

Lets also note that this angle can
be found through subtraction

A

90° — 34° = 56°

Note the use ._

to enter cosine.

This allows you to

use fewer
C B keystrokes. Try it
a out yourself to see
how it helps

. b a
Sin34° = — C0s34° = —
12 12
12sin34° = b 12c0s34° = a

b=06.710 a = 9.948
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